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#include <stdio.h>
#include <stdlib.h>
int main()
{
int a=1;
float b=3.6;
printf("fa=%d\n",a);
printf("b=%f\n",b);
system("PAUSE");
return O;
}
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8 =) - = o double 15 1.7E-308~
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double 1.1E+4932
int @%rg, TU[;EI int a=5;
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#include <stdio.h>
#include <stdlib.h>
int main()
{
char a='A’;
printf("a -7 £,%c\n",a);
system("PAUSE");

return 0O;
}
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#include <stdio.h>
#include <stdlib.h>
int main()

{
char a[]="welcome!"
printf("a EJ"fHF.T'L%s\n",a);
system("PAUSE");
return O;

}
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a Fj[i£h welcome!

=~ void BIHIl GBI ZEf "

char name[5]="Mary”;
"happy day!”
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#include <stdio.h>
#include <stdlib.h>
void star();
int main() //main()= A=
{
printf("call procedure star()\n");
star(); /PP starQFy R
system("PAUSE");
return O;
}
void star() /star(FyEr
{
prl ntf("**********\n") ,
}
= AR
call procedure star()
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#include <stdio.h>
#include <stdlib.h>
int main()
{
int a=51,b=23;
printf(" }%LY;‘JF"[EI'U a=%d,\t b=%d \n",a,b);
a+=b;
printf("a+=b & a=%d\t b=%d\n",a,b);
system("PAUSE");
return O;

}
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7]+ BYaE TSR 60 EI]Jﬁ‘FLI' pass” A Hlfai’down”
if (score>=60) ] |¢1§|Tﬁ%m» s
printf(’pass\n™); (score>=60)?printf("pass\n"):printf("down\n");

else

printf(’down\n”);
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